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Finding Division Remainders

Name:

Use multiplication rulesto determine the missing remainder for each problem. Answers
150 + 2=75Tr 2) 6,306 +5=1,261r
1.
2.
7,506 + 10 = 750 r 4 96 +10=9r
3.
4.
860 + 5=172r 6) 48+2=24r
5.
6.
7,596 + 2 = 3,798 r 8 177 +10=17r
7.
8.
5423 +2=2711r 10) 6,924 + 5=1,384r
9.
10.
94 +5=18r 12) 4,522 + 10 = 452 r
11.
12.
719 + 5=143r 14) 255 +10=25r
13.
14.
6,715+ 5=1,343r 16) 4,735 + 10 = 473 r
15.
16.
24 +5=4r 18) 26 + 2=13r
17.
18.
321 +2=160r 20) 4,915+ 2=2457r
19.
20.
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Finding Division Remainders Name: Answer Key
Use multiplication rulesto determine the missing remainder for each problem. Answers
150+ 2=75r O 2) 6,306 +5=1261r 1
1 0
2 1
7,506 + 10 =750r 6 4 96 +10=9r 6
3 6
a. 6
860 + 5=172r O 6) 48+2=24r O
5. 0
6 0
7,596 +2=3,798r O 8 177 +10=17r 7
7 0
8. 7
5423 +2=2,711r 1 10) 6,924 -+ 5=1,384r 4
0. 1
10, 4
94 +5=18r 4 12) 4,522 + 10 =452r 2
11. 4
12 2
719 +5=143r 4 14) 255 +10=25r 5
13 4
14. S
6,715+ 5=1,343r O 16) 4,735 + 10 =473 r 5
15. 0
16. S
24 +5=4r 4 18) 26 +2=13r O
17. 4
18. 0
321 +2=160r 1 20) 4915+ 2=2457r 1
19. 1
20. 1
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Math www.CommonCoreSheets.com 1 11-20|45(40|35|30(25|20|15|10| 5| O




|

1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

Finding Division Remainders Name:
Use multiplication rulesto determine the missing remainder for each problem. Answers
9,197 + 5=1,839r 2) 5956 +5=1,191r
1.
2.
221 +2=110r 4) 106 + 10 =10
3.
4.
32+5=6Tr 6) 64+5=12r
5.
6.
20-2=10r 8) 48+ 10=4r
7.
8.
364 +10=36Tr 10) 96 + 10 =9
9.
10.
713+ 2=356Tr 12) 3,365 +5=673r
11.
12.
6,157 + 10 = 615 r 14) 715+ 2=37r
13.
14.
25+5=57r 16) 26 + 2 =13
15.
16.
1,362 + 10 = 136 r 18) 639 + 10 = 63 r
17.
18.
504 + 2=252r 20) 3,994 + 5=798r
19.
20.
1-10 [ 95]90|85(80| 75| 70| 65| 60| 55| 50
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Finding Division Remainders Name:

Answer Key

Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 9,197 +5=1,839r 2 2) 5,956 + 5=1,191r 1
1 2
2 1
3) 221 +2=110r 1 4) 106 ~+ 10=10r 6
3 1
a. 6
5 32+5=61_ 2 6) 64+-5=12r 4
5. 2
6 4
7) 20-2=10r O 8) 48+10=4r 8
7 0
8. 8
9 364+10=36r 4 10) 96 - 10=9r 6
3 4
10, 6
11) 713 +2=356r 1 12) 3,365 +5=673r O
11. 1
12 0
13) 6,157 + 10 =615r 7 14) 75+2=37r 1
13 7
14. 1
15) 25+5=5r O 16) 26 +2=13r O
15. 0
16. 0
17) 1,362 + 10 =136r 2 18) 639~ 10=63r 9
17. 2
18. 9
19) 504 +2=252r O 20) 3,994 +5=798r 4
19. 0
20. 4
1-10 | 95[ 90| 85|80 (75| 70| 65| 60|55 | 50
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1) 8,071+ 5=1,614r

3) 96 +5=19r

5) 40+ 2=20r

7) 65+ 10=67r

9) 225+ 2 =112

11) 9,266 + 2 = 4,633 r

13) 5,601 + 5=1,120r

15) 8,411 + 10 = 841 r

17) 6,339 + 2 = 3,169 r

19) 9,842 + 10 = 984 r

Finding Division Remainders Name:
Use multiplication rulesto determine the missing remainder for each problem. Answers
2) 94+5=18r
1.
2
4) 288 +5=57r
3.
4,
6) 565+ 5=113r
5.
6.
8) 5,295+ 10 =529 r
7.
8.
10) 7,167 + 10 = 716 r
0.
10.
12) 24 +2=127r
11.
12.
14) 7,947 + 5=1,589 r
13.
14.
16) 77+10=7r
15.
16.
18) 501+ 2=250r
17.
18.
20) 62+ 10=6r
19.
20.
1-10 | 95/90[85(80| 75| 70| 65| 60 | 55| 50
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1) 8,071+ 5=1,614r

3) 96 +5=19r 1

5) 40+ 2=20r O

7) 65+10=6r1 5

9 225+2=112r 1

11) 9,266 + 2 = 4,633 r

13) 5,601 + 5=1,120r

15) 8,411 + 10 = 841 r

17) 6,339 + 2 = 3,169 r

19) 9,842 + 10 = 984 r

Finding Division Remainders Name: Answer Key
Use multiplication rulesto determine the missing remainder for each problem. Answers
1 2) 94+5=18r_4
1 1
2 4
4) 288+ 5=57r_3
3, 1
4, 3
6) 565+ 5=113r_ 0
5, 0
6. 0
8) 5295+ 10=529r_ 5
7. S
8 S
10) 7,167 + 10 =716r_ 7
9. 1
10, 7
0 12) 24 +2=12r O
11. 0
12 0
1 14) 7,947 + 5=1,589r 2
13 1
14. 2
1 16) 77+10=7r 7
15. 1
16. 7
1 18) 501 +2=250r_1
17. 1
18. 1
2 20) 62+10=67r1r_2
19. 2
20. 2
1-10 [ 95[90( 85|80 | 75| 70| 65|60 |55 | 50
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Finding Division Remainders Name:
Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 80 +5=16r 2) 68+5=11r
1.
2.
3) 56563 +5=110r 4) 5,177 + 2 =2,588r
3.
4,
5 27 +10=2r 6) 430~ 10 =43
5.
6.
7) 48 - 10=4r 8) 467 + 2 =233 r
7.
8.
9) 973 +5=19%r 10) 453 +10=45r
9.
10.
11) 9,232 + 2 =4,616r 12) 9,257 + 10 =925 r
11.
12.
13) 91 + 5=18r 14) 52 +5=10r
13.
14.
15) 66 + 10=6r 16) 99+ 10=9r
15.
16.
17) 85 +2=42r 18) 28 +2=14r
17.
18.
19) 6,028 + 2 = 3,014 r 20) 83+2=41r
19.
20.
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Finding Division Remainders Name: Answer Key
Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 80+5=16r O 2) 68+5=11r 3
1 0
2 3
3) 553 +5=110r 3 4) 5177 +2=2588r 1
3 3
a. 1
5 27+10=2r 7 6) 430 - 10=43r O
5. 7
6 0
7) 48+ 10=4r 8 8) 467 + 2=233r 1
7 8
8. 1
9 973+5=194r 3 10) 453 +10=45r 3
9 3
10, 3
11) 9,232 +2=4,616r O 12) 9,257 + 10 =925r 7
11. 0
12 7
13) 91+ 5=18r 1 14) 52 +5=10r 2
13 1
14. 2
15) 66 - 10=6r 6 16) 99+ 10=9r 9
15. 6
16. 9
17) 85+2=42r 1 18) 28+2=14r O
17. 1
18. 0
19) 6,028 + 2 =3,014r O 200 83+2=41r 1
19. 0
20. 1
1-10 | 95|90 85|80 | 75| 70| 65| 60| 55 | 50
Math www.CommonCoreSheets.com 4 11-20(45|40|35|30(25|20|15|10| 5| O




|

Finding Division Remainders Name:
Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 1,995 +2 =997 r 2) 2514 +2=1,257r
1.
2.
3) 108 +2=54r 4) 6,319+ 10 =631
3.
4,
5) 967 + 2 =483 r 6) 650 +5=130r
5.
6.
7) 28+5=57r 8 56 +5=11r
7.
8.
9) 146 +5=29r 10) 1,049 + 5 =209 r
9.
10.
11) 75+ 2=37r 12) 568 + 5 =113
11.
12.
13) 753 + 5=150r 14) 9,106 + 2 = 4,553 r
13.
14.
15) 2,641 ~ 10 =264 r 16) 660 ~ 10 =66 r
15.
16.
17) 5,550 + 5=1,110r 18) 439+ 10=43r
17.
18.
19) 74 +10=7r 20) 5,618 ~+ 10 =561 r
19.
20.
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Finding Division Remainders Name: Answer Key
Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 1,995+2=997r 1 2) 2514+2=1257r O
1 1
2 0
3) 108 +2=54r O 4) 6,319+ 10=631r 9
3 0
a. 9
5 967 +2=483r 1 6) 650 + 5=130r
5. 1
6 0
7) 28+5=5r 3 8 56 +5=11r
7 3
8. 1
9 146 +5=29r 1 10) 1,049 + 5 =209 r
9. 1
10. 4
11) 75+2=37r 1 12) 568 + 5 =113
11. 1
12. 3
13) 753 +5=150r 3 14) 9,106 + 2 =4,553r O
13 3
14. 0
15) 2,641+~ 10=264r 1 16) 660 ~ 10 =66 r
15. 1
16. 0
17) 5,550 + 5=1,110r O 18) 439+ 10=43r
17. 0
18. 9
19) 74 +-10=7r 4 20) 5,618~ 10=561r 8
19. 4
20. 8
1-10 | 95|90 85|80 | 75| 70| 65| 60| 55 | 50
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Finding Division Remainders Name:
Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 95+ 5=19r 2) 43 +10=4r
1.
2.
3) 96 + 2 =48 4) 68+ 2=34r
3.
4,
5 706 - 10=70r 6) 55+ 2=27r
5.
6.
7) 3,516 + 5=703r 8) 9,900 + 2 =4,950r
7.
8.
9) 40+ 10=4r 10) 282 + 5=567r
9.
10.
11) 494 + 2 =247 12) 6,990 + 10 = 699 r
11.
12.
13) 37 +2=18r 14) 8,534 + 5=1,706r
13.
14.
15) 8,797 + 5=1,759 r 16) 34 +2=17r
15.
16.
17) 622 + 5=124r 18) 6,950 + 10 = 695 r
17.
18.
19) 44 +5=8r 20) 3,559 + 10 = 355 r
19.
20.
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Finding Division Remainders

Name:

Answer Key

Use multiplication rulesto deter mine the missing remainder for each problem.

1) 95+5=19r O 2) 43+10=4r 3
3) 96 +2=48r O 4) 68+2=34r O
5 706 +10=70r_6 6) 55+2=27r 1
7) 3516 +5=703r 1 8) 9,900 + 2 =4,950r O

9) 40+ 10=4r

0 10)

11) 494 + 2 =247t O 12)

13) 37 +2=187r

1 14)

15) 8,797 + 5= 1,759 2 16)

17) 622 + 5= 1241 2 18)

19) 44 +5=8r

4 20)

Math

282 +5=56Tr

2

6,990 + 10=699r O

8,534 +5=1706r_ 4

34+2=17r

0

6,950 + 10 =695r O

3,559 +10=355r 9

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

0
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Finding Division Remainders Name:
Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 1,264 +5=252r 2) 7,934 + 2 =3,967r
1.
2.
3) 1,466 ~ 5 =293 r 4) 4,820 ~ 10 = 482 r
3.
4,
5 86 +5=17r 6) 3,348 + 2 =1,674r
5.
6.
7) 44 +-10=4r 8) 944 + 5=188r
7.
8.
9) 876 + 2 =438r 10) 115+ 10=11r
9.
10.
11) 100+ 2 =50r 12) 65+ 2=32r
11.
12.
13) 809 + 5=161r 14) 7,564 + 5=1,512r
13.
14.
15) 902 + 10 =90 16) 9,442 + 2 =4,721r
15.
16.
17) 35 +10=3r 18) 9,307 + 10 =930 r
17.
18.
19) 640 + 5 =128 20) 7,943+ 10=79%r
19.
20.
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Finding Division Remainders Name:

Answer Key

Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 1,264 +5=252r 4 2) 7,934 +2=3,967r O
1 4
2 0
3) 1,466 + 5=293r 1 4) 4,820~ 10=482r O
3 1
a. 0
5 86+5=17r 1 6) 3,348 +2=1,674r O
5. 1
6 0
7) 44+10=4r 4 8 944 +5=188r 4
7 4
8. 4
9) 876 +2=438r O 10) 115+ 10=11r 5
9 0
10, S
11) 100+ 2=50r O 12) 65 +2=32r 1
11. 0
12 1
13) 809 - 5=161r 4 14) 7,564 + 5=1,512r 4
13 4
14. 4
15) 902 +10=90r 2 16) 9,442 +2=4,721r O
15. 2
16. 0
17) 35+10=3r 5 18) 9,307 + 10 =930r 7
17. S
18. 7
19) 640 + 5=128r O 20) 7,943 - 10=794r 3
19. 0
20. 3
1-10 | 95[ 90| 85|80 (75| 70| 65| 60|55 | 50
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1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

Finding Division Remainders Name:
Use multiplication rulesto determine the missing remainder for each problem. Answers
60+5=12r 2) 23+10=2r
1.
2.
30-5=6Tr 4) 21 +10=2r
3.
4.
102 +5=20r 6) 93+ 10=9r
5.
6.
6,851 +5=1370r 8 35+2=17r
7.
8.
644 ~ 10 = 64 r 10) 772 + 2 =386
9.
10.
517 + 2 =258r 12) 6,999 + 5=1,399 r
11.
12.
89 +5=17r 14) 772 + 2 =386
13.
14.
69 +2=34r 16) 725+ 10=72r
15.
16.
32+5=6Tr 18) 23+ 2=11r
17.
18.
68 +2=34r 20) 677 +5=135Tr
19.
20.
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1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

Finding Division Remainders Name: Answer Key
Use multiplication rulesto determine the missing remainder for each problem. Answers
60+5=12r O 2) 23+10=2r 3
1 0
2 3
30+5=6r_0 4 21+10=2r 1
3 0
a. 1
102 +5=20r 2 6) 93+ 10=9r 3
5. 2
6 3
6,851 +5=1370r 1 8 35+2=17r 1
7 1
8. 1
644 + 10=64r 4 10) 772 +2=386r O
0. 4
10, 0
517 +2=258r 1 12) 6,999 + 5=1,399r 4
11. 1
12 4
89+5=17r 4 14) 772 +2=386r O
13 4
14. 0
69+2=34r 1 16) 725+ 10=72r 5
15. 1
16. S
32+5=6r_2 18) 23+2=11r 1
17. 2
18. 1
68+2=34r O 20) 677 +5=135r 2
19. 0
20. 2
1-10 [ 95]90|85(80| 75| 70| 65| 60| 55| 50
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Finding Division Remainders Name:
Use multiplication rulesto deter mine the missing remainder for each problem. Answers
1) 82+5=16Tr 2) 4,957 + 10 = 495 r
1.
2.
3) 56 +10=5r 4) 152 +5=30r
3.
4,
5) 6,095 + 10 = 609 r 6) 9,014 + 2 = 4,507 r
5.
6.
7) 9,933 +2=4,966Tr 8) 993 +2=496r
7.
8.
9 5171 +5=1,034r 10) 60+ 5=12r
9.
10.
11) 35 +5=7r 12) 6,367 + 10 = 636 r
11.
12.
13) 61 +10=6r 14) 69+ 10=6Tr
13.
14.
15) 940 + 10 =94 r 16) 31 +2=15r
15.
16.
17) 466 + 5=93r 18) 466 - 10 =46
17.
18.
19) 370 + 2 =185r 20) 8,865 +5=1,773r
19.
20.
1-10 [ 95] 90| 85|80 | 75| 70| 65|60 55 | 50
M ath www.CommonCoreSheets.com 9 11-20|45|40|35(30(25(20(15|10| 5| O




|

Finding Division Remainders

Name:

Answer Key

Use multiplication rulesto deter mine the missing remainder for each problem.

1)

3)

5)

7)

9)

11)

13)

15)

17) 466 + 5=93r

19)

82 +5=16r

2 2)

56 +10=5r

6 4)

6,095+ 10=609r 5

9,933 +2=4966r_ 1

5171 +5=1,034r 1

35+5=7r

6)

8)

10)

0 12)

61+10=6Tr

1 14)

940 +10=94r O

370+ 2=185r O

Math

16)

1 18)

20)

4,957 + 10 =495r 7

152 +5=30r_ 2

9,014 +2=4507r O

993 +2=496r 1

60+5=12r O

6,367 + 10 =636r_ 7

69+10=6r_9

31+2=15r 1

466 + 10 =46r_ 6

8,865 +5=1773r_ O

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

Finding Division Remainders Name:
Use multiplication rulesto determine the missing remainder for each problem. Answers
568 + 2 =284r 2) 8,504 +2=4252r
1.
2.
61+5=12r 4) 36+5=7r
3.
4.
76 +5=15r 6) 838 +2=419r
5.
6.
572 +10=57r 8 78+ 10=7r
7.
8.
62+ 10=6r 10) 9,094 + 5=1,818r
9.
10.
2,601 + 10 =260 r 12) 728 + 10 =72
11.
12.
56 +10=5r 14) 83+5=16Tr
13.
14.
860 +2=430r 16) 4,376 + 2 = 2,188 r
15.
16.
8,888 + 5=1,777r 18) 86 + 5=17r
17.
18.
89 +10=8r 20) 7,000 + 2 = 3,500 r
19.
20.
1-10 [ 95]90|85(80| 75| 70| 65| 60| 55| 50
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1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

Finding Division Remainders Name: Answer Key
Use multiplication rulesto determine the missing remainder for each problem. Answers
568 + 2=284r O 2) 8504 +2=4,252r O
L 0
2 0
61+5=12r 1 4 36+5=7r_1
3 1
a. 1
76+5=15r 1 6) 838+2=419r O
5. 1
6. 0
572 +10=57r_ 2 8 78+ 10=7r_ 38
7 2
8. 3
62+ 10=6r_2 10) 9,094 + 5=1,818r 4
0. 2
10, 4
2,601 +10=260r 1 12) 728 +10=72r_ 8
11. 1
12 3
56 +10=5r_ 6 14) 83 +5=16r_ 3
13, 6
14. 3
860 +2=430r_ O 16) 4,376 + 2=2,188r 0
15. 0
16. 0
8888 +5=1777r_ 3 18) 86 + 5=17r_ 1
17. 3
18. 1
89+10=8r_ 9 20) 7,000 +2=3,500r O
19. 9
20. 0
1-10 | 95]90|85[80| 75| 70| 65|60 55 | 50
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